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HIF=SNHEH 25 22 ALY oA &X
S A 8,000
FolMEEY FHy ¥ 22 (A=H) 78,178 73,487 4,691
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401 AIEBI L 2CHEI 471,000 231,000 240,000
01 A& dl 470,000 230,000 240,000

ArE HEUIAY 45,000
otetiel Bi+=2 22X S At 11,000
oteHel =2 SE YIS A 9,000
AlZ1el B2 & Jt=dle £XI3AM 14,600
g21cl =2 ZXSA 10,000
242 =2 EXSA 6,000
= Zicl =2 ZXSA 10,000
=32 =2 AXSA 21,000
Alg2e| Bi+=2 Z2XS A 5,000
A=22 s2 ZESAM 10,000
AI=3el Bi+=2 ZXSA 10,000
SHeH12I(195-1) Bi~2 & XIS At 10,000
otetee| Bi+=2 2 & =2 SHISAM 10,000
otetel 28 X 3A 10,000
stdiel OtAE EE ZA 2,000
stdicl =2 0ld ZAt 8,000
stg2el 89 E233A 10,000
std4cl Otsera NI SA 10,000
ArZ1el B2 Z XIS A 3,400
ArZ2el =2 Jttdlg EXISA 20,000
AS32l E2 0tAE ZFIAM 10,000
212 ot =L 3 M 10,000
a22cl =2 ZX3A 10,000
&23cl =2 2XSA 10,000
242 s2 ZF3AM 10,000
S22l =2 WMSA 20,000
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-9 8,887 «3H x40Al 2t+123 12,798
g Al 140,000& = 18H » 122 30,240
03 B2 (RIAHY)2Z2NE S 84,844 84,470 374
HREX(S23) 84,844
== 2,210,000 =2« 12& 53,040
- E F Ol 2,210,000& %60/ 10022 23| 5,304
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04 3R (RINHL)2ENVEBEZRELEIS 849 0 849
ZRA(RIAHL)2Z 22X DAY
84,844,000 *1% 849
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201 Let24d] 89,590 71,440 18,150
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UMHE Xl XA (HaH) 138,298 102,683 35,615
EArzel 43,200 16,200 27,000
204 AR AH| 1,200 1,200 0
03 SHZRFH 1,200 1,200 0
NEEEEsR& 100,000& 1H 128 1,200
401 AIEHI L 201 42,000 15,000 27,000
01 A& Bl 42,000 15,000 27,000
HEA HIIOMEAE X SA 22,000
Lo ZI(365) Xl ZA 20,000
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Alstel oFsSotd U2 Al 22,000
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ME1el or2ot2d HHISA 19,000
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- D8MHEE S 500
=& & XM Addl =A 9,113
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ZE F M| 500,000& 1«23 1,000
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